SPH 3U

PRACTICE

1. THE METRIC SYSTEM

Express each of the following measurements in terms of the basic SI unit.

a) 0.56 km

b) 75 cm

c) 3224 mm

d) 655 mm

e) 961 nm

f) 7564 g

g) 0.056 t

h) 252 g

i) 52 μs

j) 15 a (15 years)

2. ACCURACY IN MEASUREMENTS

State how many significant digits there are in each of the following measured quantities.

a) 47.2 m

b) 401.6 kg

c) 0.000 067 s

d) 6.00 cm

e) 46.03 m

f) 0.000 000 000 68 m

g) 0.07 m

h) 908 kg

i) 7.60 s

j) 0.0050 m

3. SCIENTIFIC NOTATION

Express each of the following in scientific notation.

a) 6807

b) 0.000 053

c) 5200 (with 2 significant digits)

d) 0.000 000 000 813

e) 0.070 40

f) 39 879 280 000 (with 7 significant digits)

g) 40 000 000 000 (with 1 significant digit)

h) 0.80

i) 68

j) 760 (2 significant digits)

Express each of the following in common notation.

a) 7 x 101
b) 5.2 x 103
c) 8.3 x 109
d) 10.1 x 10-2
e) 6.3868 x 103
f) 4.086 x 10-3
g) 6.3 x 102 

h)  6.0 x 10-1 
i)   1.5 x 10-4

j)   4.35 x 102

4. ROUNDING

Round each of the following to 1 significant digit.

a) 3.125 m

b) 3.25 m

c) 3.35 m

d) 3.55 m

e) 3.350 000 01 m

f) 2.301 m

g) 670 m

h) 1.2 s

i) 8.9 g

j) 990 s

5. OPERATIONS WITH SIGNIFICANT DIGITS

Perform the following mathematical operations, expressing answers to the correct number of significant digits.

a) 463.66 + 29.2 + 0.17

b) 426.66 – 39.2

c) (2.6) (42.2)

d) (65) (0.041) (325)

e) (0.0060) (26) (55.1)

f) 650 ÷ 4.0

g) 0.452 ÷ 0.012

h) (5.21) (0.45) ÷ 0.0060

i) 3.52
j) √4.9

6. PERCENTAGE ERROR IN MEASUREMENTS

Use the formula for percentage error to answer the following.

a) A student measures the acceleration due to gravity and finds it to be 9.72 m/s2.  What is his percentage error, if the accepted value is 9.81 m/s2?

b) A student measures the coefficient of friction and finds it to be 0.37.  If the accepted value is 0.41, what is her percentage error?

7. TRIGONOMETRY

Find the measurements of the listed unknown parts to the triangles below.


x





35.7o





θ





0.275 m





7.5 m





3.5 m








